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Input

Emergency care

» Seriously ill and injured
patients from the community
* Referral of patients with
emergency conditions

Throughput

Patient arrives at ED

ack of access to follow-up care

Unscheduled urgent care

* Lack of capacity for
unscheduled care in the
ambulatory care system

* Desire for immediate care
(eg, convenience, conflicts
with job, family duties)

Safety net care
*Vulnerable populations
({eg, Medicaid beneficiaries,
the uninsured)

* Access barriers (eg,
financial, transportation,
insurance, lack of usual
source of care)

Ambulance
diversion l
Triage and room
placement
Demand for Diagnostic evaluation
ED care and ED treatment

ED boarding of inpatients

ACUTE CARE SYSTEM

Leaves without
treatment
complete

Patient

Ambulatory
care
system

.*.
Transfer to other
facility (eq, skilled

disposition

nursing, referral
hospital)

I |

Admit to

Lack of available
staffed inpatient beds

hospital

Ann Emerg Med. 2003;42:173-180




2013

X} Ha HFAIZH 2R} Ha HFAIZH 2R} " HFAZE
MECEE
A 8354 66,138 9.2 67,041 9.5 62,949 10.0
21 (%) 1,195 (1.8) 16.4 1,067 (1.6) 13.1 1,384 (2.2) 135
SO /ZOF Lij 1} 2,658 38.0 3,040 33.7 3,028 33.4
2 (%) 110 (4.1) 42.7 54 (1.8) 32.4 85 (2.8) 32.2
HEMEER
A 34 31,534* 9.5 74,894 9.5 62,839 8.8
2 (%) 340(1.1) 10.7 788(1.1) 12.7 650 (1.0) 13.5
SO0 /Z=oF Lij 1} 3,423 28.0 7,198 31.2 6,199 26.2
M 2(%) 39 (1.1) 35.6 70 (1.0) 54.7 84 (1.4) 37.7
MEZtAE
A 224 81,150 5.9 80,217 5.6 76,007 5.6
™ 2 (%) 737 (0.9) 7.8 666 (0.8) 8.5 702 (0.9) 6.8
& ol /Z= ok LY 7t 2,265 13.4 2,083 14.8 2,084 11.7
21 (%) 9 (0.4) 22.9 16 (0.8) 25.0 8(0.4) 43.1
A547| L1t 3,529 20.6 3,379 17.3 3,502 16.0
21 (%) 32(0.9) 21.8 47 (1.4) 18.0 43 (1.2) 12.3
MESO0HrHE 3
A 34 103,640 8.0 105,545 8.8 99,436 8.7
M2l (%) 4,124 (4.0) 14.1 3,417 (3.2) 16.4 2,853 (2.9) 18.5
& ol /= ok Lj| 7t 9,581 20.1 9,224 29.3 8,936 31.3
21 (%) 672 (7.0) 33.0 639 (6.9) »201 AR 12~5% 202712|0| 1674 A 5)= 47.5
- . - . —
He 2 S=4 0|8 2tk & M=} W N JFA|ZH 2013~2015
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level 1

level 2

level 3

level 4/5

48.2
38 (2.9)
463 (35.0)
803 (60.7)
18 (1.4)
30 (2.3)
211 (16.0)
649 (49.1)
432 (32.6)

60(4.4)
61.2

2 (3.3)
45 (75.0)
13 (21.7)

0 (0.0)

3 (5.0)
21 (35.0)
25 (41.7)
11 (18.4)

At EE 81

=
1262
47.6
36 (2.9)
418 (33.1)
790 (62.6)
18 (1.4)
27 (2.1)
190 (15.1)
624 (49.4)
421 (33.3)



AP olg

He R H 518 (39.2) 31 (51.7) 487 (38.6)
ICU & 101 (7.6) 12 (20.0) 89 (7.1)
=<l M 70 (5.3) 4 (6.7) 66 (5.2)
T 7t 624 (47.3) 12 (20.0) 612 (48.6)
AH 8 (0.6) 1 (1.7) 7 (0.6)
ps| 9.4 9.7 9.4
He E 13.8 10.9 13.9
S MFAIZE  1cu ¢¥ 6.0 3.8 6.3
(hr) & 14.5 20.5 14.1
7t 5.8 7.9 5.7

2
0Z

10.0 22.3 8



CIGNES 1362 60 1302
MESEA 703 (51.6) 41 (68.3) 662 (50.8)
7|E} 262 (48.4) 6 (31.7) 256 (49.2)
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2015 2014 2013

SL2A
SARS ISIA|A(%) WAL HSIR4 (%) WAL Eﬁf)'f

(o]

M2CHEH 40 172.8 40 182.6 40 180.2
AAMZSHA 68 122.6%* 56 145.5 56 113.0
MEztAYH2] 47 116.5 47 108.1 47 103.7
AZ20fAHH 2 100 94 .3 108 98.7 91 108.8

*20159 128 1€~58 29271A|Q| ¢EV| = 0|&
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ool o %

%

Tz g = 3008 40| 160-300E 4 O 08¢0/
2003 132,646 267,880 163,418 126,213 112,583
2004 141,489 285,742 178,928 120,114 120,576
2005 152,050 379,579 202,632 119,020 136,483
2006 157,258 361,488 222,678 128,463 101,579
2007 168,801 392,462 220,366 153,174 150,480
2008 219,199 406,198 228,724 173,469 150,720
2009 193,200 361,800 238,226 155,982 153,492
2010 192,114 421,791 238,578 161,359 183,381
2011 257,817 464,198 269,953 197,993 181,364
2012 265,006 500,003 264,037 199,994 192,779
A8HSHE | g 7.2 5.5 5.2 6.2
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